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Finish |Bike# | Class [Last First |[RacePts / /5 /o
1 38 58 |Exp |[Itamura Matt 137 68 | 34 | 35 [series Winner
2 5 58 [Exp [Cumbo Chris 133 66| 33|34
1 55 52 |Exp |Brockmann |Keith 133 66 | 33 | 34 |Series Winner
1 151 65 |Int |Sligar Scott 133 66 | 34 | 33 [Series Winner
1 34 58 [Int |Gooselaw Eric 126 60 | 33 | 33 |Series Winner
1 196 52 [Int |Kadlec Donnie [131 66 | 32 | 33 |Series Winner
2 68 52 |Int |Rice Chris 129 64 33|32
1 704 45 |Int |Brower Jeff 138 70 | 33 | 35 |Series Winner
2 128 45 |Int [Young Rich 115 54129132
3 117 45 [Int [Janavicius Jason |109 5025134

32 [series Winner
L1 ]311 ]30]Int |West ____JRyan__[136___| 663535 series Winner
32 [series Winner
3 1 [series Winner

30 |Nov |Adams 31 |Series Winner




